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Jor the questions

1. Answer the following questions : 1x10=10
Y PRI O fa

(@) What is ordinal utility?
BRBF ToIfver 2

(b) Define indifference curve.
fAeer® AR s fian |

() What is inferior goods?

g 3w/ R 0
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(d)

(e)

(g)

)

@

0)
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(2)

Mention the law of demand.

wifzmfRface! Soa F41 |

Define substitution effect.

R R w15 fua |

Mention one method used to evaluate
the financial aspects of a project.

G5 o/Ee e e <@ IR I9To @
GB1 s S T4 |

What is budget line?
e 91 752

Define price consumption curve.

wacele (@R g WA |

What is meant by iso-cost line?

A (@1 i R e 2

What is meant by normal profit?

HeIE «re e & g 9

{ Continued )

2. Answer the following questions briefly : 2x5=10

(3)

©E 2R e Ted fra

(a) Write the two factors affecting demand

(b)

(c)

(d)

(e)
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.of a commodity.

<1 79 oifEwl ST 1 701 SR et |

State two properties of indifference
curve.

foraeers @ o1 CaMEy T 9 |

Mention two measures to control
risk.

5] e o1 Seir e 34 |

State the two assumptions of law of
variable proportion.

ARSI SEere RfEs w1 wfSuren Saw
4 |

optimum

What is meant by
combination of factors?
BofmIT STCHTeR ST I 6 e 2
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(4) | (5)

3. Answer the following questions (any four) : (e) What is inter-temporal choice? Expléin

5x4=20 briefly the importance of lending or
o 2PIEEd Ted T (R qre wIRE) inter-temporal choice behaviour of the
consumer.
(a) Analyze the slope of demand curve for ; BTG “I5% 6 2 (OISR SABLING *[6770
a Giffen good from price consumption oo 2T WIS REE 5{235 70T = |
curve.
wacels (@R [l ﬁz‘s@ AT GBI I @R () Explain the concept of total product,
-5@1%5 R0 40 | average product and marginal product.

T T, AT S W Alfe Seemes

() What are the differences between e R F40
market price and normal price?

IEE W WF Felie 79 W[ onw 4. Answer the following questions (any four) :
o 10x4=40
OFq 2 Yed Al (| e wifsot)

(c) Briefly discuss the equilibrium (a) Explain the concept of consumer
conditions of a firm under equilibrium with the help of indifference
competition. curve.

AP WS @b AP ST Faeers @R RES (SreR SIRPINE {REICH!
SR FYLS ST 1 | RISl

(b) Explain how equilibrium price is
determined in short-run under perfect
competition. 2+8=10

(d) Explain how the long-run average cost
curve is derived.

T e T @ R e sa =,

T | FFPleTe Ao wHe ST v

e dise a1 =W, A F40
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(6) (7))
(c) Define isoquant. Explain its properties. (h) Discuss the various stages of
' 2+8=10 production with the help of law of

e @R ke fan wWR o afiEeR Variable ‘proportion.
BRI AR SR Rif Tewe oo R[fen

' w59 ey stcemeat 41 |

(d) What is expansion path? Explain how
it is related to changes in cost and
production of output. 2+8=10

TR 212 397 R TE TeAMEE SARqeT
Fore 3, e FiEe =7, 0y 40 |

* ok h

(e) What is perfect competition?
Explain the characteristics of perfect
competition. 2+8=10

“JfefecTenEe w57 <efemfrenee
TG CAFEPTIR 401 41 |

(/ Discuss diagrammatically the laws of
returns to scale.

S iR Afew Rfcsr Bag s=Ee wm
1 |

(99 How does change in rate of interest
affect present and future consumption
behaviour of the consumer? Explain.

TR YW ARREE (SfeR I9TF T SREre
TR SI6aTS [vee eferg coferT, s 4 |
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